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Full Marks : 40 Time : 2 hours

The figures in the right-hand margin indicate marks. .
Candidates are required to give their answers in their own
words as far as practicable.

Hllustrate the answers wherever necessary.
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(ii) 100 ml 0.1(M) CH,COOH &3t4 50 ml 0.1(M) NaOH
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ICL,-, SOCL, H,0", XeO,F, 3+3+42+2
English Version
. Group - A
Answer any five questions : - 5x2=10

Write the unites of surface tension and viscosity.

What is activation energy of a reaction. How it depends
on temperature. '

Write the significance of Vandarwaal’s constants ‘a’ and
‘b,
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(5)

What is cell constant. Write its unit.
Write Born-L:ande equation.
What is- hybridisation and shspor of L~ ion.
Write structure and bonding in Bz'fiﬁ‘
Define catenation. -
Group - B
Attempt any four questions. 4x5=20

(i) Arrange the following with stability order.

. 02’ 02+’ 022+" 01_’ 0_22_- o
(ii) What is lattice energy? 4+1
(i) Calculate the lattice enefgy of NaClL

Given : AH(NaCl)=381.2, AH(Na)=108
AHdiss(CL,)=244; TP(Na)-495.4 EA(CI)=349.0

Here all the energy unit is in KJ/mole. Form Bom-
Halser Cycle of NaCl. |

(i) What is the demerits of Born-Haber Cycle? 4+1

(i) Equivalent conducfance of MgCl, is greater than
~ BeCl,-Why? |
(Twn Over)



(6)
(ii) Bond angle of PH, is 94° but PF, is 98° — Why?
" 2424 |

(i) Draw and discuss the conductometric titration curve
of the titration between strong acid and weak base.

(i) 60 min required to complete 75% of a 1st order
reaction. Calculate its half life. 3+2

. Define and express the formula of critical temperature,

Critical pressure and critical volume. 5

(1) 1st IP of oxygen is possitive, but 2nd IP is negative- -

why?
(ii) Order the halogens with increasing order of electron
affinity. . 23423
i Group - C
Answer any one questions. 1x10=10

(1) First order reactions does not completed —Why?

(ii) Rate constant of a reaction at 200K is 0.1 time of rate
- constant T K temperature. Activation energy of the
reaction is 7.65 KJ mol™. Find out the value of T.
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(7)

(iil) Derive Oswald dilution law.
(iv) He, not possible. He; possible — explain.
(v) Pbl, unstable but Pbl, stable-why? 242424242

(i) Calculate equivalence conductance (A ) of acetic acid
at infinite dilution. Given : A (NaCl)=109,
A(CH,COONa)=78, A(HCI)=384. All the units is in
ohm™ cm?. equv’. : '

(ii) 50 ml 0.1(M) NaOH solution is add to 100 ml 0.1(M)
CH,COOH. What is the pH of the solution. pKa=4.74.

(iii) Calculate the pH of the 0.01(M) acetic acid solution
at 25°C. pKa=474.

(iv) Find out the hybridisation of given atoms/ions—
ICL, SOCL, H,0", XeOF, - 3434242
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